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	LI: To use inference to answer questions about the text
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	I can read the text. 
	
	
	

	I can find clues in the text to answer questions. 
	
	
	

	Comments:
	[image: Image result for wish]Wish:


1. Why did Dave feel sad? Dave felt sad because…
he wanted an ice cream. 			he had hurt his knee.

he had lost his favourite toy.			Bella was mean to him.  

2. Why was Joe described as being ‘too dribbly’? Joe was too dribbly because…
he didn’t like ice cream. 				he was a baby.

he was sad.						he was crying.  

3. Why do you think that Dave said ‘I want Dogger’ at bedtime. Tick two.  
Dave said “I want Dogger” because…
he missed Dogger. 				he wanted to cuddle
							Dogger in bed. .

he was tired.					it was late at night.  

4. How do you think Dave felt when he saw Dogger on the toy stall? 
I think Dave felt ………………. because ……………………………………………………………

……………………………………………………………………………………………………………………
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